A
~BEND TOP MOUNT BOLT AT N
| HEAD SO HEAD SITS AGAINST
FRONT ANGLE AND BOLT
PROTRUDES DIRECTLY IN B
THE MIDDLE OF THE WEDGE
SHAPE FORMED BY THE -
INSIDE OF THE ANGLE AND
THE TOP OF THE BLADE. -
(PLATES/EA SUPPLIED TO
MAKE WEDGE SHAPE)
yn ] L
TS ST T S e e [ PN
L UUOUUrryraerrryroererryrivrryyigyy
2750
TRIM CHANNEL ITEM PART No. DESCRIPTION REV. QTY | |
AS REQUIRED 1 9072-301 STICKRAKE WELDMENT A 1
2 9072-308-L STICKRAKE LEG -LH A 1
WELD 4 LUGS TO
BACK OF BLADE 3 9072-308-R STICKRAKE LEG -RH A 1 D
EITHER SIDE 4 9024-256 SIDE MOUNT BOSS LINK A 4
5 9024-100 WEDGE B 2
6 9024-094 WEDGE RET PIN B 2 [
7 9024-272 THREAD RET PIN B 4
8 9024-096 BLADE PIN B 4
9 $9024-171/20 BLADE LUG 1 C 8 E
10 0002-229 BOLT 6" x 3/4" UNC 2
11 0016-148 3/4" HT WASHER A 4
12 0010-102 NUT HEX 1-1/4" UNC 4
13 $9024-262/16 SPANNER 2.5" B 2
[ \ 14 0096-006 LYNCH PIN @11 A 4 F
. / \ 15 0010-108/54 NUT HEX 2-1/2" UNC A 8
— 7 16 0034-675 COTTERPIN 13 x 80 A 8
/ 'I'/"I' 17 9024-250 SIDE MOUNT ARM A 4
/ \
/\'I\’ \/’ .~I I~ 18 | 9025-748/20 WEDGE CHANNEL A | 2
L7 @G@ e 19 $9024-204/6 TOP MOUNT WASHER A 2
20 0012-012 3/4" UNC PLASTIC INSERT NUT G 2 G
| This desi drawi d ificati lculations that relate to this desi drawi th ty of and i . . AD DRAW ING DO NOT | JOB No. DRN: | DATE:| THIS DRAWING IS THE PROPERTY OF
T D o B e ooy o e e s yecwus | wa s nte G e | Choms |0 | | e R e e PR v s
£| approval from Gessner Industries. It is not sold, and is subject to recall along with any copies immediately on demand. AS1554.4 High Strength AS1163/350/C350 - RHS/SHS WEIGHT: (kg) 6164 7 AR meon 20 MOLLOY ST,TOOW OOMBA
| Reproduction of the drawing and copying rights are reserved solely to Gessner Industries under Copyright Law. Al information [QUenched & Tempered Steel ﬁg:gig[Ew?wfm‘SﬂbﬁSEf‘;’fR USEDON . RRTReoRE TS| ABN.23347 188 171 AC.NO10 117610  QUEENSLAND 4350 '
8 disclosed by this drawing to the holder shall be held in commercial confidence. DOR-T - AUSTRALIA
SUPPLIER PART NUMBER REF. DRG TH[E
: - , ASSEMBLY
o Jrmsny s e | DOR-T 30" STICKRAKE  — —
A | Fmstissue Wi [ eearis | oL s secreo [T
REV CHANGE BY DATE  |RNGUKR%7 0,250 ANGULAR b/- 0.5{° 1V MO STATUS: REV:
. IO R OLE GRS 08 9072'300 Released A
1 2 3 4 5 6 7 8 9 SCALE 1:17.5| SHEET 1 OF 1 |SOLIDWORKS DOCUMENTl @ =| A4




